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Es4

1.121,117,113, ----

a =121,d =117- 121 =- 4

Letthenthtermbe thefirstnegativeterm.
..Gr < 0

or a+(n -1)d < 0

or 121+(n-1)(- 4) < 0

or (n - 1)(- 4)-121

or n-1>

or m > 2 +1

inm>

or n>31.2S

.
The firstnegativeis32nd term.

2. Letthe firstto beaand "be the common

difference.
as +a==6 (given)

or a+2d +a+6d =6

or 2a +8d =6

Dividing bothsidesby 2

a+4d =3

or a
=3 -4d-

as xa==0)igwen)
or (a +2d)(a+6d) =8

or (3-yd+2d) (3-4d+6d) =8 (using equation()
or (3-2d) (3+2d) =8
or (312-(2d)

=
=8 [::(a-d)(a+d) =a2-d)
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on 9-4d=8

or 9-8=4d

or 1 =4d

or d=1
I

Takingsquare rooton bothside

d =I

When d =I When d = -I

From eq. From eg.
2 2

a=3-4xz a =3- x()
dr a=1 a

=S

51 =E(2x + +15x1) S1 =(2 x3 +15)-E))-

1

=o(2 +) =8(t0 - )
=3x,1 =8-1
=76 - 20

... Sun of 16 terms-76 or 20.

.. Distance between consecutiverungs=25em

Lengthof longestrung=45emI

Lengthof shortestrung:25 em
Sistancebetween top and bottom rung=2Im

50
= 2x1er =250em-

I
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10
Number of rungs-Es,

-11

The length of rungs forma an A.P. Withfirst
ten=45 and lastterm=25 and d=25em

·Length of wood required=S11
=(45+25)

35
- 1170X
I-
I

=385em

4. The house numbers 1,2,3,4,5,---, 49 form an Ap
willa=1, d =1

sum of numbers of houses precedinghouse number
x2 =Sx- 1

Sun of numbers of houses after house numbers
=S49-Sc

... Accordingto the givencondition

Sx-1 =S49 - Sx

or ()(A+x-1) =(1 +49) - 2(1 +x)

Multiplyingbothsidesby 2

(x-1)x =49x50 - x)1 +x)
or x -x =2450-x - x

orx" -x +x +x =2450

or 2x2 =2450

or x =1225

Takingsquare rooton both sides
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x =135

We reject(-35) as house number cannotbe negative.
..x=
35

S. Total number of steps=1S
Length of each step, I =50m
widthof each step, b =Im

Height of each step, h =1 m

Volume of concrete requiredto build the first
step= lbhC

25
=

50xx

=m

Heightof second step-+=I m

Volume of concrete requiredto buildthesecond
25

step =50x=Ism

Heightof thirdstep=I+I =m

Volume of concrete requiredto build the third
2S

step =50x , xB = Es m3

........

.........~

a -21=25 - 2 =2
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as -2 =2 -2 =2(z - 1) =3xz =2
- -.....

- - -........

SinceGk+1-ak is same for all thevalues of k

:, ,, ---- form an A.P. witha=
25

I

and d =25
I

:Volume of concreterequiredfor 1 steps=SIS

7- I=E(x2
++4x25
I

=(25+

-xS
=750m3
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